
  

                     ivRkvnx miKvwi g‡Wj ‹̄zj GÛ K‡jR, ivRkvnx 
                  ‡K› ª̀: ivRkvnx-B-105 

               Gm.Gm.wm. cixÿv-2020 Avmb web¨vm 

Kÿ bs 
wkÿv cÖwZôv‡bi 

bvg 
‡ivj †iÄ 

†gvU 
cixÿv_x© 

gšÍe¨ 

401 
(evwYR¨) 

‡KvU© GKv‡Wwg 
700362-700396=35 

870035,870036,870037,870039,870049,870050=6 
 

55 Rb 
 

4_© 
Zjv 
c~e© 

¸jRvievM 
700397-700409=13 

870051=1 

402 
(weÁvb) 

‡KvU© GKv‡Wwg 101392-101417 = 26 
52 Rb 

¸jRvievM 101459-101484 = 26 

403 
(weÁvb) 

‡KvU© GKv‡Wwg 101418-101441 = 24 

48 Rb 

4_© 
Zjv 
`wÿY 

¸jRvievM 
101485-101491 = 7 
750047-750052 = 6 

‡gwW‡Kj K‡jR 101492-101502 = 11 

405 
(weÁvb) 

‡KvU© GKv‡Wwg 101442-101450 = 9 
750042-750046 = 5 

48 Rb ‡gwW‡Kj K‡jR 
101503-101522 = 20 

900066 Ges 750053-750057 = 6 

Avj wnKgv 101451-101458 = 8 

407 
(AwbqwgZ 
ïay MwYZ) 

‡KvU© GKv‡Wwg 
800197-800205(800202 ev‡`)=8 

870038 Ges 870040-870048 = 10   
35 Rb 

 

4_© 
Zjv 
`wÿY 

¸jRvievM  800211-800223(800220,800221 ev‡`)=11  

Avj wnKgv 800207-800209 = 3 

‡gwW‡Kj K‡jR 800230, 800231, 900004 = 3 

501 
(gvbweK) 

‡KvU© GKv‡Wwg 400900-400927 = 28 
56 Rb 

5g 
Zjv 
c~e© 

‡gwW‡Kj K‡jR 
K¨v: 

401051-401078 = 28 

502 
(gvbweK) 

‡KvU© GKv‡Wwg 400928-400955 = 28 

57 Rb ‡gwW‡Kj K‡jR 
401079-401090 = 12 , 800224-800229 = 6  

900067, 900068, 900069 = 3 

Avj wnKgv 400985-400992 = 8 

509 
(gvbweK) 

‡KvU© GKv‡Wwg 400956-400983 = 28 

56 Rb 
5g 
Zjv 

cwðg 

Avj wnKgv 400993-401009 = 17 

¸jRvievM 401018-401028 = 11 

510 
(gvbweK) 

‡KvU© GKv‡Wwg  400984 = 1, 800182-800196 = 15 Ges 800202 = 1 

51 Rb ¸jRvievM 401029-401050=22 Ges 800220-800221=2 

Avj wnKgv 401010-401017=8 Ges 800206,800210=2 

 me©‡gvU = 458  
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